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The cross section for photoelectric
offect in K shell of an atom with
atomic number Z for a photon of
energy hv is

5
7/2 7 9

1 8
Op = ¢04‘\/§('&') ﬁ’% = ':'3"1'[1'0

where rg = [ezlmcz]2 =7.94 x 10%cm?,

o = hv/mc? is the energy in units of mc?

Total Compton Cross Section
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The expression for o as a function of o

and of the angle of photon scattering 0 is
given by .

o =0 /[1+0p(1-cosB)].
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Probability that it will be a The mean free path is

o
compton process P(c) = c;: 1
Probability that it will be a 7\-‘:0-_[3
Photo Eletrlc Process

: o The distance x travel before
P(p) =_GP_ or P(p)= 1-P(c) collision have a probability
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The djstance x travel before

collision have a probability
p(x)= A eAX
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distribution as R so
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